## Informational Report for the June 20, 2017, Board of Trustees Meeting

				New								
				Emp to						Maximum	Assign	Assign
Last Name	First Name	М	Site	District	Duties	Division	Hou	rly Rate	Maximum			End Date
		i						<b>E</b> 1 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3				
Chabot College	,			'	1	ı	1		1	I		l
					Project Lead for Summer Youth Sports	Special Programs and						
Adams Bailey	Tracey	C.	Chabot	No	Program	Services	\$	18.00	45	\$ 810.00	6/14/2017	6/30/2017
	:				Project Aide for the Summer Youth Sports	Special Programs and					T	, ,
Alvarado	Claudia	A.	Chabot	No	Program	Services	\$	15.00	45	\$ 675.00	6/14/2017	6/30/2017
					Project Aide for the Summer Youth Sports	Special Programs and	-					
Alvarado	Claudia	A.	Chabot	No	Program	Services	\$	15.00	55	\$ 825.00	7/1/2017	7/20/2017
					Project Aide for the Summer Youth Sports	Special Programs and	i					
Bell	Tylore	M.	Chabot	No	Program	Services	\$	15.00	45	\$ 675.00	6/14/2017	6/30/2017
					Project Aide for the Summer Youth Sports	Special Programs and						
Bell	Tylore	M.	Chabot	No	Program	Services	\$	15.00	55	\$ 825.00	7/1/2017	7/20/2017
					Provide sign language and notetaking	Special Programs and						
Brooks	Kwenu	(nmi)	Chabot	No	services to students	Services	\$	52.00	650	\$ 33,800.00	7/1/2017	12/31/2017
			İ		Provide lifeguard services for the Summer	Special Programs and						
Carboni	Lucas	M	Chabot	No	Youth Sports Program	Services	\$	15.00	45	\$ 675.00	6/14/2017	6/30/2017
	!				Provide lifeguard services for the Summer	Special Programs and						
Carboni	Lucas	M.	Chabot	No	Youth Sports Program	Services	\$	15.00	55	\$ 825.00	7/1/2017	7/20/2017
		!		:		Health, Kinesiology,						
Carboni	Lucas	M.	Chabot	No	Teach swimming clinic	and Athletics	\$	15.00	300	\$ 4,500.00	7/1/2017	12/31/2017
		İ			Project Aide for the Summer Youth Sports	Special Programs and			!			
Cortez-Barragan	Eduardo	(nmi)	Chabot	No	Program	Services	\$	15.00	45	\$ 675.00	6/14/2017	6/30/2017
					Project Aide for the Summer Youth Sports	Special Programs and						
Cortez-Barragan	Eduardo	(nmi)	Chabot	No	Program	Services	\$	15.00	55	\$ 825.00	7/1/2017	7/20/2017
	i				Provide project services for Athletics	Health, Kinesiology,						
Davis	Asti	J.	Chabot	No	tournaments and outside group rentals	and Athletics	\$	19.55	275	\$ 5,376.25	4/16/2017	6/30/2017
				i :	Project Lead for Summer Youth Sports	Special Programs and						
Davis	Asti	J.	Chabot	No	Program	Services	\$	18.00	45	\$ 810.00	6/14/2017	6/30/2017
					Provide project services for Athletics	Health, Kinesiology,						
Davis	Asti	J	Chabot	No	tournaments and outside group rentals	and Athletics	\$	19.55	300	\$ 5,865.00	7/1/2017	12/31/2017
						Health, Kinesiology,						
Forrest	Aaron	M.	Chabot	No	Teach swimming clinic	and Athletics	\$	25.00	300	\$ 7,500.00	7/1/2017	12/31/2017
	İ				Project Aide for the Summer Youth Sports	Special Programs and		. —				
Gallegos	Anyanna	L.M.	Chabot	No	Program	Services	\$	15.00	45	\$ 675.00	6/14/2017	6/30/2017
					Project Aide for the Summer Youth Sports	Special Programs and					:	
Gallegos	Anyanna	L. M.	Chabot	No	Program	Services	\$	15.00	55	\$ 825.00	7/1/2017	7/20/2017

## Informational Report for the June 20, 2017, Board of Trustees Meeting

				New Emp to						Maximum	Assign	Assign
Last Name	First Name	MI	Site	District	Duties	Division	Hour	ly Rate	Maximum	Amount		End Date
		İ										
l lama.	N(:-	_	Ch. J. J.	.,	: 	Health, Kinesiology,		4 0.0				
Harvey	Nicholas	R.	Chabot	No	Teach swimming clinic	and Athletics	\$	15.00	300	\$ 4,500.00	//1/201/	12/31/2017
lacanh	Donald	١.	Chahat	NI -	Tanah andarah adiata	Health, Kinesiology,		45.00	200	4	74 /2047	40 (04 (004)
Joseph	Ronald	ļJ.	Chabot	No	Teach swimming clinic	and Athletics	\$ -	15.00	300	\$ 4,500.00	7/1/2017	12/31/2017
Kubicki	Cross	C.	Chahak	NI.	To a share the continue of the to	Health, Kinesiology,	۸.	F0 00	200	á 45.000.50	7 /4 /0047	40/04/004
KUDICKI	Greg	<u>L.</u>	Chabot	No	Teach swimming clinic	and Athletics	\$	50.00	300	\$ 15,000.00	7/1/2017	12/31/2017
IZ In tall t	): <b>-</b>	(	i ca a la ca			Health, Kinesiology,				4		
Kubicki	Jennifer	(nmi)	Chabot	No	Teach swimming clinic	and Athletics	\$	50.00	300	\$ 15,000.00	7/1/2017	12/31/2017
B. Carolina I. Caro	5 6° 1 11	_	Ct. I.	l i	Provide sign language and notetaking	Special Programs and						
Markakis	Michelle	E.	Chabot	No	services to students	Services	\$	50.00	650	\$ 32,500.00	7/1/2017	12/31/2017
N 4	D L - I		o	!	B 11 10 00 0	Special Programs and	_					
Moore	Rachel	М.	Chabot	No	Provide real time captioning services	Services	\$	52.00	650	\$ 33,800.00	7/1/2017	12/31/2017
		l		i		Health, Kinesiology,						
Mousa	Nael	M.	Chabot	No	Teach swimming clinic	and Athletics	\$ i	15.00	300	\$ 4,500.00	7/1/2017	12/31/2017
					Provide services for the Resource Family							
		ļ		İ	Approval (RFA), Community Action Outreach							
	1				to Infants (CARI), and Foster and Kinship Care							
Orviss	Donna	L.	Chabot	No	Education (FKCE) programs	Academic Services	\$	100.00	30.	\$ 3,000.00	4/22/2017	6/30/2017
			:			Health, Kinesiology,						
Pepin	David	R.	Chabot	No	Teach swimming clinic	and Athletics	\$	15.00	300	\$ 4,500.00	7/1/2017	12/31/2017
I					Project Lead for Summer Youth Sports	Special Programs and	:					· · · · · · · · · · · · · · · · · · ·
Rubino	Jesse	A.	Chabot	No	Program	Services	\$	18.00	45	\$ 810.00	6/14/2017	6/30/2017
1	!					Health, Kinesiology,						
Rubino	Jesse	A.	Chabot	No	Teach swimming clinic	and Athletics	\$	25.00	300	\$ 7,500.00	7/1/2017	12/31/2017
	i					Health, Kinesiology,						
Tomei	Tyler	Α.	Chabot	No	Teach swimming clinic	and Athletics	\$	15.00	300	\$ 4,500.00	7/1/2017	12/31/2017
					Provide lifeguard services for the Summer	Special Programs and				,		
Valle	Choki	(nmi)	Chabot	No	Youth Sports Program	Services	\$	15.00	45	\$ 675.00	6/14/2017	6/30/2017
						Health, Kinesiology,	<u> </u>				· · · · · · · · · · · · · · · · · · ·	
Valle	Choki	(nmi)	Chabot	No	Teach swimming clinic	and Athletics	\$	15.00	300	\$ 4,500.00	7/1/2017	12/31/2017
		T			Provide lifeguard services for the Summer	Special Programs and			İ			, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
Valle	Choki	(nmi)	Chabot		Youth Sports Program	Services	\$	15.00	55	\$ 825.00	7/1/2017	7/20/2017
		· '		:							-, -, -, -, -,	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,

## Informational Report for the June 20, 2017, Board of Trustees Meeting

				New Emp to						Ma	ximum	Assign	Assign
Last Name	First Name	МІ	Site	District	Duties	Division	Hour	ly Rate	Maximum	Am	ount	Beg. Date	End Date
Las Positas College	i	!		İ	•								
						Computing, Applied							
					Provide services for the Foster and Kinship	Technology, and Social							
Bracey	Charles	E.	Las Positas	No	Care Education (FKCE) program	Sciences	\$	50.00	125	\$	6,250.00	7/1/2017	12/31/2017
	!					Student Health amd							
Dickinson	Cheryl	<u> </u>	Las Positas	Yes	Marriage Family Therapy intern	Wellness Center	\$	15.00	650	\$	9,750.00	6/6/2017	12/31/2017
	İ		1		1	Computing, Applied							
					Provide services for the Foster and Kinship	Technology, and Social							
Evans-McWilliams	Gwen	(nmi)	Las Positas	No	Care Education (FKCE) program	Sciences	\$	50.00	125	\$	6,250.00	7/1/2017	12/31/2017
						Computing, Applied							
					Provide training for Alameda County foster	Technology, and Social							i i
Gecox	Heike	(nmi)	Las Positas	No	parent continuing education classes	Sciences	\$	50.00	100	\$	5,000.00	7/1/2017	12/31/2017
	i	:	:	İ	!	Computing, Applied	İ						
		İ	i		Provide services for the Foster and Kinship	Technology, and Social							
Hauser	Gerry	Α.	Las Positas	No	Care Education (FKCE) program	Sciences	\$	50.00	125	\$	6,250.00	7/1/2017	12/31/2017
						Computing, Applied			j	ĺ		:	
					Provide training for Alameda County foster	Technology, and Social							
Loyola	Anne	L.	Las Positas	No	parent continuing education classes	Sciences	\$	50.00	650	\$	32,500.00	7/1/2017	12/31/2017
	:	:				Computing, Applied							
		i	1		Provide services for the Foster and Kinship	Technology, and Social							
McMillan	Rosalind	D.	Las Positas	No	Care Education (FKCE) program	Sciences	\$	65.00	125	Ś	8,125.00	7/1/2017	12/31/2017
						Computing, Applied	· · · · · ·			*		1,7,7,2,7	
					Provide services for the Foster and Kinship	Technology, and Social	İ						
Otto	Luzemilia	(nmi)	Las Positas	No	Care Education (FKCE) program	Sciences	Ś	50.00	125	ć	6.250.00	7/1/2017	12/31/2017
	Lazerrina	1 1111111	Las i Ositas	110	eard Education (TROE) program		, ,	50.00	14.0	٠	0,230.00	//1/201/	12/31/201/
		i		1	Provide services for the Foster and Kinship	Computing, Applied							
Dage	Th	_	las Dasitas	Na		Technology, and Social	_	CE 00	400		0.405.00	7/4/2047	40/04/004
Page	Thema	S.	Las Positas	No	Care Education (FKCE) program	Sciences	\$	65.00	125	\$	8,125.00	7/1/2017	12/31/2017
					: :	Computing, Applied						·	
			[.		Provide services for the Foster and Kinship	Technology, and Social							
Powell	Yvette	L.	Las Positas	No	Care Education (FKCE) program	Sciences	\$	22.00	300	\$	6,600.00	7/1/2017	12/31/2017
	1	:				Computing, Applied							
		İ			Provide services for the Foster and Kinship	Technology, and Social	:						
Suarez	Martha	E.	Las Positas	No	Care Education (FKCE) program	Sciences	\$	65.00	125	\$	8,125.00	7/1/2017	12/31/2017

## Informational Report for the June 20, 2017, Board of Trustees Meeting

Last Name	First Name	MI	Site	New Emp to District	Duties	Division	Hour	y Rate	Maximum		Assign Beg. Date	Assign End Date
Vasquez	Akilah	V.	Las Positas	No	Training for Alameda County foster parent continuing education classes	Foster and Kinship Care Education	\$	65.00	125	\$ 8,125.00	7/1/2017	12/31/2017
Wells	Karen	R.	Las Positas	No	Provide training for Alameda County foster parent continuing education classes	Computing, Applied Technology, and Social Sciences	\$	65.00	100	\$ 6,500.00	7/1/2017	12/31/2017
Las Positas College -	Community Ed	  ucatior !	 1						: :		1	
Bell	I. Patricia	(nmi)	Las Positas	No	Teach voice over classes	Community Education	\$	30.00	50	\$ 1,500.00	6/1/2017	6/30/2017
Bell	I. Patricia	(nmi)	Las Positas	No	Teach voice over classes	Community Education	\$	30.00	50	\$ 1,500.00	7/1/2017	12/30/2017
Broida	David	F.	Las Positas	No	Teach music classes	Community Education	\$	30.00	50	\$ 1,500.00	7/1/2017	12/30/2017
Donat	Teresa	G.	Las Positas	No	Teach computer classes	Community Education	\$	30.00	100	\$ 3,000.00	7/1/2017	12/30/2017
Galindo	Alejandro	(nmi)	Las Positas	No	Teach radio/video/civics topics	Community Education	\$	30.00	100	\$ 3,000.00	6/1/2017	6/30/2017
Galindo	Alejandro	(nmi)	Las Positas	No	Teach radio/video/civics topics	Community Education	\$	30.00	100	\$ 3,000.00	7/1/2017	12/30/2017
Kechich	Sonia	(nmi)	Las Positas	No	Teach language classes	Community Education	\$	30.00	75	\$ 2,250.00	1/10/2017	6/30/2017
Kutil	Craig	Α.	Las Positas	No	Teach wellness and physical activity classes	Community Education	\$	30.00	200	\$ 6,000.00	7/1/2017	12/30/2017
McCrea	Joann	D.	Las Positas	No	Teach craft classes	Community Education	\$	30.00	100	\$ 3,000.00	7/1/2017	12/30/2017
Murray	Stephen	D.	Las Positas	No	Teach fencing classes	Community Education	\$	40.00	200	\$ 8,000.00	7/1/2017	12/30/2017
Rheinheimer	Sophie	C.	Las Positas	No	Teach fencing classes	Community Education	\$	40.00	300	\$ 12,000.00	7/1/2017	12/30/2017
Roberts	Mark	Α.	Las Positas	No	Teach art classes	Community Education	\$	30.00	50	\$ 1,500.00	7/1/2017	12/30/2017
West	Matthew	S.	Las Positas	No	Teach fitness classes	Community Education	\$	30.00	100	\$ 3,000.00	7/1/2017	12/30/2017